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7131414141213 3|4|6[5]6[2|3]|4
11 8323 | 3| 7| 8| 6| 9|10 9] 9] 6| 9| 9] 9| 9/10(10 53] -
2| 8338 O| 7| 4| 6| 8| 9| Of 8| 5| 8] 9| 9] 8] 8| 9 46|SM /TIT2, RM2, OM1, PAC, Tribologie, ED.FIZ 3
3| 8342 | 0| 7| 8| 7|10(10] 6] 9| 7| 9|10 9]10]|10|10 53|-/RM1
41 8350 3| 6 7| 5] 6] 7] O] 9] 5] 9] 9| 9| 8| 7| 9 50|GD-7, Mec2-5, TIT1-6/TIT2-5, OM1
518355 5 7| 7] 7| 9| 9] 9|10| 5| 8| 8| 8| 8| 7| 9| 7,533 60|SM, Mecl /-
6| 8390 | O] Of O] O] Of O] O] Of Of O] Of O O] O] O 0]AM, Mecl, GD, Mec2, ALG /RM2, OM1, Tribologie, VM
7/ 8395 | O 7| 6] 6] 9| 9| 6[10] 5] 9(10[ 8]10[(10|10 53(-/0M1, Tribologie
8| 8417 | 5| 8| 8| 6|10 9| 9|10 5| 9] 9| 8| 9/10|10| 8,083| 60|SM, GD-7, Mec2-5, DTI2-6 /TCD-7
9] 8446 | O| 8| 8| 6| 8| 8| 8 9| 5[10] 9| 9]10]10(10 53|AM-5, SM, Mec2-5, Ed fiz1l-adm/OM1, VM-5, Practica
10| 8503 | 5| 6| 7| 7| 8]10[10| 9| 6| 8| 8] 8| 9[10[10| 7,767| 60| -
111 8505 3| 6| 8| 8| 8| 9] 7| 9] 5] 9] 9| 9] 9/10|10 53(SM /RM1-6, TIT2-6, TCD-7, RM2
12| 8516 | 7| 7| 9| 7| 9110] 9| 10] 9| 9(10| 9|10 10{10{ 8,85| 60]|-
13| 8517 | 6| 6| 6 7| 7] 9| 8| 8] 6 9| 9| 9|10 8|10 7,783 60|(Mec2, TIT1/-
14| 8531 | 5| 7| 8| 7[10]10{10|10] 7[10{ 9] 9|10 10|10{ 8,55 60(Mec2-5, TIT1-7 /Ed fiz2
15| 8551 | 3| 6| 6| 6] 8| 9] 9| 8| 4] 9| 8| 8| 9| 9|10 49|SM, Mec2-5 /Mecanisme, Ed fiz 2, OM1
16| 8557 | O| 7| 6| 6| 7| 9| 5| 8] 5| 9| 8] 8| 9/10(10 53| GD-5 /Mecanisme, Ed fiz 2, OM1, VM-5, Ed fiz 3
17| 8559 | 0| 6| 8| 7| 8|10 0| 10| 5| 9| 8] 8| 9[10(10 50|SM, GD-6 /OM1, PAC
18| 8731 | 0| 8| O 5| 5| 9| 0| 8| 4| 9| 9| 8| 8| 8| 9 42| -
19| 8564 | O 7| 7| 6| 8|10] 5| 8] 4| 9|10| 8| 9| 8|10 49|AM, GD, Mec2, DTI2, ALG /RM1, TCD, RM2, OM1
20 8584 | O O] 6| 6 9] 6| Of 7| 4| 8| 7| 7| 8| 7| 9 43(SM, GD,, Mec2 /TIT2, OM1, VM
21| 8586 | 0| O O] O 6/ O Of 8 Of Of O] O] O] Of O 7|SM, Mecl, GD, Mec2, TIT1/RM1, Ed fiz 2, RM2, OM1, Tribologie, VM
22| 8589 | 0] Of O] O] 5[ Ol O] Of Of 9] 7| 5|1 7] 6| 9 30|SM, GD, Mec2, DTI2 /Mecanisme, TIT2, TCD, OM1, PAC
231 8602 | 6| 6 7| 7| 8[10] 8| 9| 5| 9| 9| 8| 8| 8|10| 7,767 60|Mec2-5/PAC-7
24 8606 | 5| 7| 9| 7| 8|10] 7[(10| 7|10{10{10]10]10]|10| 8,517| 60| -
25| 9053 | 0| 6| 6| O 6| O O[10f 7| 5] O] 0] O] O O 24|TIT1/MN1,0M1,Tribologie, Ed fiz3
26 8640 | O 6] 6| 8| 9]|10| 5| 8| 4| 9|10 9] 9| 8|10 49(SM, Mec1, Mec2 /OM1, VM
271 8656 | S| 7| 7| 7| 8[10] 5| 8| 5| 7| 7| 8| 8/10|10| 7,233 60|SM-5, GD-5, Mec2-5, Algebra-5, TIT1-5(in cat)/MS-6, TIT2-5(in cat), OM1-5, Tribologie-7




